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Theme: As is often pointed out, Japan has a shrinking population.”x‘
One estimate by The National Institute of Population and Social
Security Research (2012) is that the current population of 127 .
million will decline by a third by 2060. This drop in population has :
various social and economic effects, including higher tax burdens on
workers and slower economic growth. One suggestion has been that
Japan should accept more immigrants to help solve the problem.

Do you agree with this suggestion? If so, what kind of
immigration policy Japan should have?
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